1 o | O E N~ =0 0 | =
2 IEIZIEE|E R
S lelg |83 |23 ° s
2_ g = o (_DD. O 723 -_(ED O
o glalele | = [~ N
= P = - I =N = U =~ O
Ll o o | - D . @) -
S |2 |2 ol s | @ . — =
=S E| gle |z |l - =
~ |- o | 50 o O on
e |g Sle | =2 o S
@ —_—
=2 3 =
=, | O = Q 8
= =
Slo [wwl | [145]%5 (80 | \\\
N 0| o
© [ ¥
1857 O |8 1459755 (9900 | = E
0 &2 2 - A
3346 |71 Jee 7] [145(9805 (9950 | =
o
-
O
O
N
(@)
U 5 o
© . =
I — -
o0 S >
uw \
O -
O
L = © =) —
f'\ RN
= R REECREE R
A\ |2
© o é
19,55 & 145(9885 [100,30 | = &
25E - R
31,16 ~ 5] [145]9905 10050 | = -
It _cl_;‘lo 5-0 ~ \\
2SI
4951 S 14509975 [10120 | =
S ®
e
67,85 S 1,45 ]100,05 [ 101,50 | = E
T S 4
o
=&~
3
+~
~ (o>
/
K
o
20,31 3 = 114510135 10280 | =
. El o [ odpowietrznik , Hz=1,45 m
o e
9 5 O
T | I
NS O
TN
@)
56,24 3 145110055 102,00 | = |- |og
O N [ |
N3 (D)
VAN
=
©
85,30 S 145 100,35 [101.80 | =
Lils S
S o
513 145|100,35 10180 | = |}, ~
— TT
11,78 AL 100,29 o 00 _|_droga_ziemna
ol U1
210|  | 3 14510015 1010 | =S o
N N
O |©
No
O S o8
U B ~
on
5633 | | & 145(9955 {10100 | =
— N
a, o
I
l“:
=)
88,44 2 1459955 |10100 | = %
96.49 0 g :E 9974 |101,19 g s L/ r\ra oslonowa, DN110, L=13,96 m
~ N = , gl.osi=0,
& x m; 1,45199,95 (101,40 = & \ \ : x‘ro ostonowg, DN110, L=1,78 m
570 = N N
— ~
1
3 3 . /
2184 % g 1t, gl.0si=0,60 :
36,09 =l 99,65 101,10 / ryra ostonowa, ON110, L=60,50 m
2
30,33 < 11, ql.0si=0,60 / ,
57,82 Ll 1t, glosi=0,60 / / |
[¥e) 1
INN, gL.osi=0,70 i,
66,44 = | [145]9935 [10080 | = = |
72,56 =|&] 99,35 100,80 ® |1t ql.05i=0,60 {
80,58 Tg' g =z 145(99.35 [100,80 E - rura ostonowa, DN110, L=14,00 m
== @ ™ rura ostonowa, DN110, L=7,93 m
8851 2182 rE145]99.35 |10080 | ©3 —
L ~|8 4 rura_ostonowa, DN110, L=7,93 m |
96,44 _ |28 145]99,35 [10080 |2 N
o TR | E] o o ura_oslonowa, DN110, L=8,77 m
= 2™ |STE1145(99,05 100,50 [~ =[ i, qlosi=0,60 & ,
N = - droga asfaltowa
3,21 _ S =B N ' oSO B, =971 m
1506 S B[2]145(9905 [10050 [F |5 glesiz0.0 = "
L ] A T R e e b 3 e
26,86 — B 98,99 [100.44 | QUL Ars=0.60 \ , rura ostonowa, DN110, L=4,97 m
> s AEaS=Hh f
06| [S/AIS1E] [98ss |00z | (MO dhes= Jruro oslonow, ON110, L=1800 m
ol oo
N =
48,69 2| |%|14509875 |10020 | = &
L2 g 3
60,00 S| (1459875 [10020 | = S
(o2 [6N)
L Z
73,69 =1 14509875 [10020 | = -
79,34 §~°§ 1,45 98,75 100,20 (\']J Profil 7, DZ90, Rz.0si=98,75
=
w
04]
-
@)
O
N
O
5 I
S -~ =
O N _
. O ~J
I =
O ™~
o =
O O
O
A N = E — Profil 6, DZ90, Rz.0si=98,75
8% © || _[E[145]9875 [10020 < 6%][]% kotnierzowa z blokiem podporowym / - Profil 6, DZ90, Rz.0si=98,75
. O O3~
- ig e P rura_ostonowa, ON110, L=16,46 m
13| |3 %[145(9875 |100.20 | O
M [@N
N g‘ g Z| =~ o
W f; =
c 15 [z]=]=[z
I I EIEIE
a o 3 ¥ e alo| S = [=}
c | 3% | | |~
D (| o2 | | ]
o |§ 2
@ = - S : | w
0 = 5
o a
BEE S p 2
5 §§ g =
= = ~ R
. g 3 \> 3
53 5_.- a
FE|2 § <
& %‘ S §? [ g Dz. rurociggu w 0,09-0,03m
U |8 |8 = s T - o -
< (3El7|wlalL] g R L& |8 |5 | 08
R N ERE R B o T 1 1
C = il P =
2 |82 =5|=2]|2 3
= (55515 5|5
< Q ==
oD ] [5G
[@X]
N
= g

PDF created with pdfFactory trial version www.pdffactory.com



http://www.pdffactory.com

